NE =R ABEYAT 4075 @750 H=20
NS =FINUD AR t=0.0

FIIEKR (BIEIE)

BR:=RAI TNy 2 T% St SAEMAKY)  EREM BTEA
Lt lRF—80 @500 H=80 A5>-#H/AUDLMREIKR t=0.8 2
PEMKIAYISZY - 10kg/m3s t=100 Tegttr 5 N EAKY) | BRAM
Teutt FRF—80 @500 H=80 AU D AR (£ih) 1=0.8 ) ;
e T
@500 500 500 \
5F (M8 b - ZEES)
e Ba+4t2L—A \ .
Ak @1000L\ A 2 |
54k L4 ‘ 3%
O
(0 @)
. fih
Sl o GhEE LW 21 1=50
—| 0
152{2Z4<§5?1~
By4 b7 -L23 @1000MA
C—100X50X20X3.2(31# 1)
P/
STy o
HB% [ FwRr—80+r—80 NEm%=s | SWe007

A1 TR (55 AEA) BR S=1/3




